PLANT ENTERPRISES PRODUCTION

	Number of		Yield per		Total	Units of	Gross Farm
Crop	Producers	Acres	Acre		Production	Measure	Value
FORESTRY							
Pulpwood							
Pine					68,569	cords	
Hardwood					11,048	cords	
Pulpwood (Total)					79,617		
Chip & Saw (Total)					47,058	cords	
Saw Timber							
Pine					14,922,364	board feet	
Hardwood					2,286,349	board feet	
Saw Timber (Total)					17,208,713		
Total Pulpwood, Chip & Saw,							\$19,666,279
Saw Timber FOB Mill							
Total Forestry Stumpage							\$10,877,957
(Total)							
Christmas Trees (Total)	6				2,800	trees	\$112,000
Pine Straw (Total)	*				7,000	bales (40 lbs.)	\$14,000
Forestry (Total)							\$19,792,279
FRUITS							
Blackberries (Total)	*	1.0	800.00		800	pints	\$1,400
Blueberries (Total)	*	8.0	2,000.00		16,000	lbs.	\$25,600
Muscadines							
Commercial	*	1.0	1.00		1	tons	\$320
Muscadines (Total)		1.0					\$320
Fruits (Total)		10.0					\$27,320
GREENHOUSE VEGETABLES							
Tomatoes (Total)	*	2,880.0	4.00	Yield / sq. ft.	11,520	lbs.	\$14,400
Greenhouse Vegetables (Total)		2,880.0					\$14,400
HAY FOR SALE		,					
Grass (Total)	22	1,200.0	3.00		3,600	tons	\$216,000
Hay for Sale (Total)		1,200.0					\$216,000
Home Gardens (Total)	7,000	,					\$1,820,000

NURSERY CROPS						
Fruit and Nut Trees (Total)	*				acre	\$8,000
Floraculture & Bedding	26				acre	\$11,250,000
Plants (Total)						
Woody Ornamentals (Total)	53				acre	\$6,000,000
Foliage Plants (Total)	21				acre	\$2,500,000
Nursery Crops (Total)						\$19,758,000
Soybeans (Total)	*	349.8	36.00	12,592	bu.	\$74,419
VEGETABLES						
Broccoli (Fresh) (Total)		1.0	315.00	315	cartons (20	\$6,300
					lbs.)	
Cantaloupe (Total)	*	1.0	150.00	150	cartons (40	\$2,700
					lbs.)	
Carrots (Total)	*	0.5	475.00	237	doz. bunches	\$1,659
Cauliflower (Total)	*	0.5	425.00	212	cartons (20	\$4,240
					lbs.)	
Collards						
Fresh	*	1.0	600.00	600	doz. bunches	\$4,200
Collards (Total)		1.0				\$4,200
Cucumber						
Fresh	*	1.0	250.00	250	bu. (50 lbs.)	\$4,500
Cucumber (Total)		1.0				\$4,500
Eggplant (Total)	*	0.8	475.00	356	bu. (33 lbs.)	\$7,120
Garlic (Total)	*	0.3	4,250.00	1,062	lbs.	\$5,310
Irish Potatoes						
Fresh	*	2.5	175.00	437	cwt.	\$15,295
Irish Potatoes (Total)		2.5				\$15,295
Mustard (Fresh) (Total)	*	1.5	650.00		doz. bunches	\$6,825
Okra (Fresh) (Total)	*	1.0	214.00	214		\$6,420
Pumpkin - Cushaw (Total)	*	0.5	145.00	72	cwt.	\$1,800
Radish (Total)	*	0.5	200.00	100	doz. bunches	\$700
Shallots (Total)	*	1.0	1,000.00	1,000	doz. bunches	\$7,000
Snap Beans (Fresh) (Total)	*	1.0	120.00	120	bu. (30 lbs.)	\$3,600
Southern Peas (Fresh) (Total)	*	4.0	100.00	400	bu. (24 lbs.)	\$10,000
Squash (Fresh)						
Yellow Squash	*	1.0	249.00	249	bu. (45 lbs.)	\$4,980

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
VEGETABLES						
Zucchini Squash	*	1.0	249.00	249	bu. (45 lbs.)	\$4,980
Winter Squash	*	1.0	249.00	249	bu. (45 lbs.)	\$3,735
Squash (Fresh) (Total)		3.0				\$13,695
Sweet Corn (Fresh) (Total)	*	3.0	600.00	1,800	doz. ears	\$6,300
Tomatoes (Field) (Total)	*	2.5	850.00	2,125	lugs (20 lbs.)	\$42,500
Turnips (Fresh) (Total)	*	1.0	600.00	600	doz. bunches	\$4,200
Watermelon (Total)	*	8.0	100.00	800	cwt.	\$6,400
Vegetables (Total)		35.5				\$160,764
TOTAL ALL PLANT ENTERPRIS	ES					\$41,863,182

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION					
Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
AQUACULTURE					
Minnows (Total)	12	0 Acres in Prod.	25,000	lbs.	\$75,000
Fish bait (Total)	12		40,000	lbs	\$260,000
Alligators (Farm) (Total)			3,595	ft.	\$89,895
Soft-shell Crabs (Total)	24		18,000	doz	\$396,000
Aquaculture (Total)					\$820,895
MARINE FISHERIES					
Shrimp (Total)	*		82,670	lbs.	\$113,828
Crabs (Total)	250		1,992,797	lbs.	\$1,978,250
Commercial Finfish (Total)	*		62	lbs.	\$67
Marine Fisheries (Total)					\$2,092,145
Fur Animals (Total)			169	pelts	\$1,639
Alligators (Wild) (Total)			2,070	ft.	\$62,100
HUNTING LEASES					
Waterfowl (Total)	7	20,000 No. Acres		acre	\$300,000
		Leased			

HUNTING	LEASES
DITTION	LLASES

All Other Game (Total)	160	110,000 No. Acres	acre	\$770,000
		Leased		
Hunting Leases (Total)				\$1,070,000
Honey (Total)	25	270 No. Hives	8,000 lbs.	\$4,720
TOTAL ALL FISHERIES & WIL	DLIFE ENTERPRISES			\$4,051,499

^{**} The marine, freshwater and oyster data presented here are for the year 2004 rather than 2005. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
	1 Toddects	Troduction	Troduction	Wicasuic	value
CATTLE & CALVES					
Steer Calves 300-400 lbs.			200	1 1	¢207.002
				head	\$207,903
400-500 lbs.			,	head	\$605,115
500-600 lbs.				head	\$505,955
600-700 lbs.			88	head	\$64,842
Steer Calves (Total)					\$1,383,816
Heifer Calves			• • •		****
300-400 lbs.				head	\$182,432
400-500 lbs.				head	\$541,047
500-600 lbs.				head	\$449,232
600-700 lbs.			90	head	\$62,794
Heifer Calves (Total)					\$1,235,505
Yearling Cattle					
600-700 lbs.			140	head	\$865
700-800 lbs.			225	head	\$1,502
Yearling Cattle (Total)					\$2,366
Cow-Calf Pairs (Total)			200	pair	\$195,826
Cull Cows (Total)			837	head	\$331,749
Cull Bulls (Total)			210	head	\$194,891
Cattle & Calves (Total)	108	5,800 No. Cows			\$3,344,153
DAIRY					
Dairy Cows					
Milk	*	80 No. Adult Cows	776,085	pounds	\$124,794
Bred Heifers				head	\$68,400

ST. TAMMANY PARISH

GOATS

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
DAIRY						
Adult Cows				96	head	\$144,000
Cull Cows				46	head	\$27,600
Bull Calves				37	head	\$1,850
Breeding Age Bulls				1	head	\$1,200
Dairy Cows (Total)						\$367,844
Dairy (Total)						\$367,844
HORSES						
Brood Mares						
Race Horses	75	3,100	No. Brood Mares	1,750	head	\$14,000,000
Show Horses	65	800	No. Brood Mares	575	head	\$2,300,000
Recreation Horses	125	400	No. Brood Mares	175	head	\$262,500
Brood Mares (Total)						\$16,562,500
Stud Fees						
Race Horses		150	No. Stallions	3,750	mares bred	\$9,375,000
Show Horses		60	No. Stallions	1,500	mares bred	\$2,250,000
Recreation Horses		20	No. Stallions	200	mares bred	\$100,000
Stud Fees (Total)						\$11,725,000
Race Horses (Total)	175			1,680	head	\$20,160,000
Show Horses (Total)	450			1,350	head	\$6,750,000
Recreation Horses (Total)	700			2,000	head	\$3,000,000
Horses (Total)						\$58,197,500
SHEEP						
Wool (Total)		180	No. Sheared	720	cwt.	\$180
Slaughter Lambs (Total)				70	head	\$11,126
Show Lambs (Total)				7	head	\$2,100
Stocker Sheep (Total)				19	head	\$1,425
Cull Sheep (Total)				20	head	\$1,100
Sheep (Total)	6	180	No.Breeding			\$15,931
			Ewes			

GOATS			
Show Goats (Total)		35	head \$7,875
Slaughter Goats (Total)		55	head \$5,968
Stocker Goats (Total)		40	head \$3,460
Cull Goats (Total)		10	head \$600
Goats (Total)	22	200 No. Does	\$17,903
SWINE			
Show Pigs (Total)		30	head \$8,550
Feeder Pigs (Total)		20	head \$624
Slaughter Hogs (Total)		26	head \$3,397
Culls (Total)		5	head \$840
Swine (Total)	6	35 No. Sows	\$13,411
TOTAL ALL ANIMAL ENTERPRISES			\$61,956,741

ST. TAMMANY PARISH \$107,871,422 265